ATTACHMENT NO. XI-D: Bike Path Resolution

Potential motion: Move to Approve the Bike Path Resolution

Recommended action: Approve the motion.

The Boone County Highway Department is asking for support from the North Boone School District in their effort to secure a grant that would connect Poplar Grove and the central campus to Belvidere with a bike path. This Bike path would originate in Belvidere and come up along Poplar Grove Rd. through the village of Poplar Grove and end at our central campus. The concept and planning has been made for multiple phases. The first part has been completed in Belvidere with a \$500,000 grant. The Highway Department is applying again for a \$2 million dollar grant that would help add the next phases to the bike path. Ultimately the goal is to have the bike path also connect to Rockford along Route 20. The total cost will be \$2.5 million dollars but they are not asking for money from the district, just a resolution of support.

Belvidere-Poplar Grove Bike Path Connection

Join Us for an Educational & Feedback Session:

All public input is welcome during these sessions and will be considered during the planning phase of this project.



You can also join us online!

1st Session: Please join my meeting from your computer, tablet or smartphone.

https://global.gotomeeting.com/join/260105885

You can also dial in using your phone.

United States: <u>+1 (669) 224-3412</u> **Access Code:** 260-105-885

2nd Session: Please join my meeting from your computer, tablet or smartphone.

https://global.gotomeeting.com/join/572781189

You can also dial in using your phone.

United States: +1 (224) 501-3412 Access Code: 572-781-189

TWO SESSIONS

FIRST:

When: Thursday, September 24,

2020

Time: 5:30 PM

Where: County Board Room

1212 Logan Ave.

Belvidere, IL 61008

Current COVID-19 guidelines will be followed on-site

SECOND:

When: Wednesday October 07,

2020

Time: 11:30 PM

Where: County Board Room

1212 Logan Ave.

Belvidere, IL 61008



Boone County Government

1212 LOGAN AVE, SUITE 102 BELVIDERE, IL 61008 PHONE: 815-547-4770 FAX: 815-547-3579

Resolution 20-17

Resolution of support for a Bike Path connection between City of Belvidere and Village of Poplar Grove

WHEREAS, transportation infrastructure is critical to the safety, quality of life and economic vitality, and

WHEREAS, the two most populous municipalities within Boone County are not currently connected by a path system, and

WHEREAS, the Boone and Winnebago County Greenways plan depicts a pathway connecting the City of Belvidere and the Village of Poplar Grove, and

WHEREAS, this project would provide access to the Grand Illinois Trail, and

WHEREAS, Boone County's obesity rates exceed the Illinois state rates, and

WHEREAS, Boone County seeks to increase alternative transportation option for all residents, and

WHEREAS, Boone County intends to submit this project for funding under the Illinois Transportation Enhancement Program (ITEP), and

NOW, THEREFORE, BE IT RESOLVED, the County of Boone supports a path connecting the City of Belvidere & the Village of Poplar Grove with the Illinois Transportation Enhancement Program (ITEP).

PASSED, A Illinois,	PPROVED, AI	ND ADOPTED by	the County I	Board of Boone County, State of		
This	, day of		_, 2020.			
				Karl Johnson, Chairman Boone County Board		
ATTEST: Julie A. Stap Boone Coun						
Ayes:	Nays:	Absent:	Abstain:	Voice Vote:		

From: Justin Krohn
To: Michele Holtzhauer

Cc: Dan Streed: Austin Edmondson

Subject: sept 9 meeting

Date: Friday, September 4, 2020 11:28:59 AM

Attachments: <u>image001.png</u>

image001.png
Resolution 20-## Matching Funds for Bike Path Connection Between Belvidere and Poplar Grove Rd.pdf

Michele,

Please review and post the attached resolution on the September 9th meeting Board Docs.

Here is my estimate:

Here is my estimate:				
Preliminar Cost Estimate				
ITEP - Belvidere to Poplar Grove Path				
Sep-20			Length	31152
			Width	16
	Qty	Units	Unit Price	Cost
Mobillization	1	EA	\$ 100,000	\$ 50,000
Earth Work	20,000	CY	\$ 22	\$ 440,000
Topsoil & Seeding	3,000	CY	\$ 10	\$ 30,000
Erosion Control				\$ 10,000
HMA	10,000	TON	\$ 70	\$ 700,000
Aggregate	50,000	SY	\$ 15	\$ 750,000
Box Culvert Ext	1	LS	\$ 150,000	\$ 150,000
Storm Sewer & Culver Pipe	2,000	LF	\$ 30	\$ 60,000
Traffic Control	1	LS	\$ 25,000	\$ 25,000
Signs & Pav Marking	60,000	LF	\$ 1	\$ 60,000
			Total Const	\$2,275,000
		Phas	e II Design Eng	\$ 125,000
			Const Eng	\$ 100,000
			TOTAL	\$2,500,000
			ITEP ask	\$2,000,000
			LOCAL match	\$ 500,000

Justin D. Krohn, P.E. Boone County Engineer 9759 IL Route 76 Belvidere, IL 61008

